


E- None of these

Question 9- A person bought some apples at the rate of 5 per rupee
and the same number at the rate of 4 per rupee. He mixed both-the
types and sold at the rate of 9 for 2 rupees. In this business he

suffered a loss of Rs. 3. Find his profit or loss percentage?

T 9- Ueh SFi<h o 6 G shl 5 79F Tid T ohl 3 H IR 3ei1 & Gl

T 4 9T 9fd 29 Sl & O GET| I8 SHT ek ohl THAATAT © 3T 9 i &

Y 2 79 W o=l 2| 39 SAIH™ H 378 3 ¥ 1 TohE( §3AT| SHAT ATH
T BT TfTTd T shifsr|
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Question 1- The sum of A’s and B’s age 1s 40 years. 10 years

later the ratio of their ages will pe 5 : 7xespectively. What was

the ratio of their ages 10 years before?

@ H: X T 1- A SR B sl 3T 1 1T 40 9N 21 10 I TG SFeh! I AT
05 AT SHHST: 5: 7 BN, 10 N U&ct Ssh! ST hl AU AT AT?

IRX= Q¢ .

T?H o= — gii
0-X+10  F Eq%il&lo) (Yo-5-p ,)
:F‘X\F%ZZSO*S«\( \/{ =+ E.:oieofthese

|,3 |
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(/ O Question 2- The length and breadth of a rectangular field 1s 400
/ 8

meter and 200 meter respectively. A track of 20 meter

surrounds 1t. Find the area of track.
Ueh IR HE shl TaTg 3T TNSTS ThAT: 400 HieT 3T 200
T 81 20 HeX T ¢ 3Gk AR AR B ¢h T &A% JTd ehifeTy)

—

\ STACY IQO“%\/\ | e |
. < Ligg =
QHOW Som) 007 {X0m e XQOQ- 28800 c1m
l K= Hoom T :,QSéOQ~&OOOQ B- 13400 cm*
X0 2 = = C- 25600 cm?
e 440 1m %éci’“ D- 14400 cm?
= = E<Tione .of these
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In program, the total number of person is 14,000. On the day of

program , 25% of the total men and 60% of total women have

participated and the number of total women in the program is equal

to the number of men who have not participated in the function.
HISRA H, ek ol et SE&AT 14,000 21 FTHSHH o 1o, el T § §
25% S et HIGATSHT H ¥ 60% = AHT foTAT & ST HrAshA H el
ATSATST ! TEAT 3 T&NI shl HEAT o SRIEH & S=ai- GHRIE H AT A
NRIES

1- Question 3- Find the pércentage of person who have

participated. ‘
T 3- HNT A STt SATRAT Rl TIARTd JTd ShiTSg|
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Men /Dﬂ/‘d ‘—'0?5‘/58000 |

= X000 { )
(A]JWY) = 75% gé)aﬂo

e 6000

Wernam 7)0%/: 60‘/_géooo

: — g (i;
/o = 2000+ 360 Xloc -

\

)1 ILfOOQ

= OF flok
JH@X%"LE_
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m participated.

T 3- HTT A Tt SAThAT hl IIIITd ATd ShiTSTT)

Question 3- Find the percentage of person who have

A-10%

B- 20%

c=40%

30 D- 60%

E- none .of these
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Question 4- Find the ratio of men and women who have not

m participated.

T 4- W &1 i JTed TRST ST AT T U 1 shifSIy)

(M 2 — CU&MF/M) Not fﬂﬂ%‘u’%ﬁfd
= EX?MW 7 HOY-gf@éWf LA 52

< ‘ B-2:3
%Xﬁ/ ' /@g ' C-4:5
RS 30 D- 6:7

E- none of these

e ——

—
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Question 5- On a sum of if the difference between
m - the simple interest after 5 years and 2 years 1s Rs. 1560, find

the difference between compound interest and simple interest
3 (é"(; % / 560 with same rate of interest in 2 year on a sum of Rs 15000.
T 5- 6500 T T TIRT YL, AlG 5 I I 2 9N} o 14 AT
ST o a1l ahT AT 1560 F9 8, a1 15000 F9 =hl TN I 2 91

‘ L{O ¥ N _n
Ro/: é%—UXW(]S T T SATST &L oh AT Tshdllg SATST 3 ATERUT SATST o s &l
D ;
égbd\g gLl T A- Rs 8000
R= 38 +T =167, B- Rs 9600
XL % C O% - I\S
I Qb{(: }6'@{-/0 C- Rs 7600
Diff= 0164y of 1500, D- Rs 5600
:}%LXJ&Q%: % _E-none '
| =i — https://t.me/mathbytarunsirmepl
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03Bl 30

D- 10

E- none of these

Question 6- A person purchased 90 table and the cost price of
each table 1s Rs. 10 and he sold it in two parts, the first part at
20% profit and sold the second part at 10% profit. If he sold
all 90 table at a certain price and got a 15% profit. If the profit
earns 1n the second condition 1s more than the first condition
and the difference in profits from both the conditions 1s Rs.

40. Find how many table were sold at 20% profit.

Teh: Sk o 90 S GIGT I e 3 31 6% Hed 10 ¥99 & 3K

36 6 &1 9T H S, TRl | 20% ST 9T 1T ET 9T 10%

AT 9T S| Afe @ gt 90 WS okl e 2T ot W sl 8 3R
15% ST 916 <R 8] At gardt Rt @ i AT el I o
31feren & ST ST IaT & STH T 37T 40 9 21 J1d hIfS foh

[eRaT TSt 20% T U St 7157
https://t.me/mathbytarunsirmepl



P = g gdoo
= 135k
[35 < ( 9o+x )= Lo
s+ x= Ly
1=35

%

https://t.me/mathbytarunsirmepl



‘

n(n+1)

b If the efficiency is n thert output will be
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Question 7- Find the output of machine D.
T 7- WA D T ASLYE T hifSTY)

A- 12296
B- 144196
C- 15196

D- 16196
ane
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Question 8- Find the ratio between the

output of machine C and D.

T 8- H2fH C AN D % ATLYE o 1<l H

AT T ShiT9Y]

A-1953:476
B- 1953:676
C- 1853:676
D-1964:171

E- none of these
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Question 9- A bag contains 7 red and 5 blue balls. There 1s
another bag which contains 8 red and 4 blue balls. One balls

1s drawn from either of two bag. Find the probability of

getting red ball.
T 9- Teh T H 7 T 3T 5 AT 7 8| Ueh A= a1 © f5aw 8

AT 3T 4 At T 2) 1 0 9 fore) ueh 971 & U 71 fHenTe
STt 2] AT I ITH i shl JTIRIShdT JTd shifsi|

-
?Xﬁ“‘J XI& & | @ A-1/8
< B. 27
SR 30
9{ /lQ C-5/8
J— D- 7/8
—E=Tone of these
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Question 10- In a box there are 5 red, x yellow, (x+2) white
and 6 pink ball: Probability of choosing one yellow ball from
the given box 1s 1/3. What is the sum of the number of

yellow whlte and pink balls?
T4 10- Toh ST | 5 AT, x T, (x +2) e 3T 6 TTeATelt 77 %I

feT 71T ST § Teh diedt 718 <A ol ATk 1/3 & W,Hﬁv_d{

@__ — ' SRt Tiat skt €A s AT R 22
-3 P e
3= 34X (&qm; 2 (a0 By
Ji |3‘)y/¢u% = =34
pE
< | - E- none of these
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Question 11- A bag contains certain number of red and blue
balls. The ratioof the number of red and blue balls in the bag
1s 2: 3 respectively. Two balls are randomly drawn from the
bag and the probability that both the balls are blue 1s 6/17.
Find the total number of balls in the bag.

T 11- Teh o1 | Hf3q S § ot 31 el e 8 9§ At

o I AT T shT EGHT 3T ST SHHT: 2: 3 8. o © ATg = &9
gx i 9 21 7 Wil Sref) & 3N ST Tiat o et g1 b §91aET 6/17 B
I+ iR radenmadia A2

NoX- \o SP= (1 B- 15
(51 Jr T;)JCJ 55‘% D- 45

E- none of these
_; https://t.me/mathbytarunsirmepl



, Question 12- 2,1, 1.5, 3.75, ?, 59.0625 .
/ ' ’ 3T5( 3o+5
LY0-5= | ( ,)
[ X5 O
iyt S A-12.105 (8 75
"6)(0?'.5:3.# 5 CB=13.12513 1R 5
C-14.115
/' 3’75)@-5: s . D- 15.125
e E- none of these
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Question 13- 11, 16, 4], 166, 791, ?

& 5 RS

| e e

e S
A-2916
: /@3/ (B-3916
== C- 4416
- D- 4116

3 X 73{ 3 E- none of these
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Question 14- 121, 125, 133, 140, 145, 160

A- 121
B- 160
C-125
D- 140
E- 145
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